Q@ y=x*-2

@ y=-x*

O y=2x

®y=3

@ y=-x*+2x



to] X oA ¥y 2]

S

@ {-1, 0, 1} ® {0, 1, 2

O {-1, 1}

® {-1, 0, 1, 2}

@ {-1, 0, 2}



=x-1

® fl(x)

=x+1

@ f(x)
© f(x)

O f(x)=x

2 +1

@ f(x) =x°



{=1, 0, 1} thste] 5 & XA X 2] &5

X = ,
Ae BAWN

ONG @ f, h ® f g h



——
fife)

-
mjy
S~

(o]

o0
<
TR
n_AlO
ol
o
a

+

=
[ap]

I

I
=

Y
B

+

=
a

I
=
NS
<+ oy
!
UF ok

® y=-6x+1

@ y=-6x
®y

D y=-6x-1

—6x+5

@ y=-6x+3



6.  BFf(x) =2 +x-200 TSt £(F(1) + f(£(-2)) ] 22

O -4 @ -2 ® 0 @ 2 ® 4



(x) = lole] 5 A% g, b o Bt fla+b) = f(a) + f(b)
ZA7Ie olefst 48 theol A T2

@ f(x) = I @ f(x) = -2
® fl(x) = 3x @ flx)=2x+3



A% A ) gl ofstel Yol ohd RRAT X E Yoo
SR 84 f(x) = 26 - 10x -5, g(x) = ~x2 + 20+ 100] A2
o, B X0 e 2 A

R K INORE

®oA @14 ®2

tlo

m o



9. AT A=1{(12 3, 4,5 oA A B = {a1, a, a3, a4, a5} 22
NS fF f(1) =ar, f(2) =ax 1 &5 f 9 Hee?

O 87 @ 2570 ® 6471
@ 817H ® 1257



tol fog=gof7t

S

= ax + col o
k=]

ax + b, g(x)
=

1
=

@ a=1

Da=1FE=b=c

® b=c

Al
H

® a=0



o f(x) 7t
f2x+1)=3
=3x+2E5 I
Z G}

2, £(3) 9 e otd
5} ?

D1
@ 2
® 3
@ 4
® 5



12.



13.

AL Aol A RO RZO & f(x) =alx—1]+(2-a)x+a
S el ol 5] $lgt A4 a o grel Wl

D a<-1 @ -1<a<l1 ® 0<a<l

@ a<l ®a<-1,a>1



14.

S

® -10 @ -5 ®1

x)=x—191 thate] (fofo- o f)(a) =1L PEdHe AF

o gh2? (&, ¥E I2 FE29 o AeE 1070)

@ 5 ® 11



A% AR FAA AR T G5 £ g 7

@ )
Yy Y
1
95 1 -2
—_—
-3 -10[ 1 2 3% -3 -10| 1 2 37
® @
4 Yy
_ _ 1
-3 -10| 1 2 37 -3 -10| 1 2 3¢
®
Yy
1
—o—_02—¢——¢—o—o—>
-3 -10| 1 2 37




